Organisational Structures Part 2

Marking Scheme
Criteria D 2.1, D 2.2

Encourage your students to answer the work following the order of the three questions.  Combining their answers into one solid piece of work will not be successful.

Question Part 1 – D 2.1, D 2.2

· Basically, what is required of the student is a demonstration of their understanding that as organisations increase in size, so there needs to be a consideration of how data is transferred around the organisation.

· As organisational structures increase as the company grows, so the need for specialist information derived from data is required from staff at various levels of authority in the organisation.

· Specialism increases as departments are formed to manage the operational needs of the organisation.

· Applications and “processes” are used and created to allow decision makers at various levels to take action based upon the information supplied.

Question Part 2 – D 3.1, D 3.2

· This question asks the student to demonstrate that, as organisations grow, there is an increasing need to spread the operational load.  Very large organisations will actually spread the operational roles to regional areas within the country.

· Very large organisations will have call centres in one region, marketing in another, the headquarters in yet another, and the main production site in another region.

· The concept that organisational size is not restricted to a single site.  That organisations can be global in extreme cases.

· The factors that affect the regional distribution of functions or departments need to be explained in detail.

· Information flow is not hampered by regional or global position.  Students need to show an awareness that the communication principles still exist; only they take place over greater distances and that ICT is an important factor in supporting that communication flow.

Question Part 3 – D 3.3

· This is the point where the students can demonstrate their knowledge in the types if ICT processes that allow communication flow in large organisations.

· The students need to show that they recognise the need to have an integrated ICT system in place in the organisation.

· I would expect reference to intranets, internet, e-mail, LAN, WAN.  However, I do not expect these features to be the whole answer to the question.

· I do expect to see discussion and explanation of how these features of the organisational ICT structure allow decision makers at all levels access to data and information vital to the operation of the organisation.

